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® SXETEAT

FFEITRERDIRHREL f 0.9
BFFSHE r 54.6
R XSO A 0.3228
HTERRSRE () t 60

® /K=
SERZANT
Q=1/360x f x r x A

Q =1/360 x 0.9 x 54.6 x 0.3228

Q = 0.04406 m3/s

o TR0 N DN ESRE

V =Q x60x60
V = 0.04406 x 60 x 60

V = 158.6m3
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(1) =EBOEE XAEEC
(2) REBORENRE XAEEC

(1)+(2)=580.5m3 +94.1 m3 = 674.6 m3
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WMEZRE : 158.6 m3 < EBEME=E:674.6 m3
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- [ RESORE]
BT/KEEE DI FIIHAES =69.67TmZEHE &9 D
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WEATKEE 1 0.12m (158.6m3+1350m2=0.12m)

RidE= : 0.30m
PN= D+ 2@+0

= 69.67 + 0.12 + 0.30 = 70.09(m) = 70.10(m) &9 B,

e

V Xifimz G.L=70.10

VILERT/KE G.L=69.79

0.31m

VEHES G.L=69.67

0.12m

® REMDEE

BPkEE = 1,350(m2) x 0.43(m) = 580.5(m3) - - -
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f: BESES 3/h e b :
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K=aH+b
. MR K
f : BEAE/KARER m/hr HoAst H: 221k (@)
a 0.014
e [ti2FEE (K) ¥ b 1. 287
EAR---K=aH+b < S—
HrghE e TE T
a: 0.014 . Wi 0 Off, Y
%% DI P2
b: 1.287 et HiE FlEE

H: 0.3 m (§%517KE8)
teig&E=E (K) =0.014 x 0.3 + 1.287 = 1.291

o BIFLEKMARER ()
REERLD - BR - BitsoO— L

o EHEREE (Qf)
BAN---Qf =K x f
B#E2EE (Qf) = 1.291 x 0.054 = 0.069725

® REMDIREINRE
AR -Qf x HiA
1Mz DOREZESE (Qf) : 0.069725(m3/hr)
EMOEE (1) : 1,350 m2
60731z DDIZEMRE = 0.069725 x 1,350 = 94.1
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0.054 m/hr

0.069725 m3/hr

94.1 m3/hr




